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REVISION

e Sequence and Series

1[0) 510 F8 1, permutations and

Combinations
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Q) In how many ways can 3 books on Hindi and 3 books on
English be arranged in a row on a shelf, so that not all the
Hindi books are together?

(@) 144 (b) 360

(oY 576 (d) 720
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NDA 2 2024 - REVISION - MATHS — CLASS 8

Q) In how many ways can 3 books on Hindi and 3 books on
English be arranged in a row on a shelf, so that not all the
Hindi books are together?

(a) 144 (b) 360
(¢) 576 (d) 720

Ans: (c)
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EEEEE

Q)IfP(32, 6) =kC (32, 6), then what is the value of &?

@@ 6 (b) 32
(c) 120 }), 720 O @
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Q)If P(32, 6) =kC (32, 6), then what is the value of k?
(a) 6 (b) 32
(c) 120 (d) 720

Ans: (d)
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EEEEE

Q) What is the value of r, if P(5, )= P(6, r—1)?

(a) 9// (b) 5,
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Q) What is the value of r, if P(5, )= P(6, r—1)?
@ 9 (b) 5
(c) 4 (d 2

Ans: (c)
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EEEEE

Q) What is the total number of combination of =n
different things taken 1,2, 3, ...., nat atime?

@@ 27+1 (b) 22n+1
(E) ZH_I \/(ﬁ') M _q
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Q) What is the total number of combination of =n
different things taken 1, 2, 3, ...., nat a time?

(a) o+ 1 (b) 22n+1
) 271 (d) 2" -1

Ans: (d)
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Q) 5 books are to be chosen from a lot of 10 books. If m 1s the
number of ways of choice when one specified book 1s always
included and » 1s the number of ways of choice when a
specified book 1s always excluded, then which one of the
following is correct?

(@) m>n ‘ﬂff m=n

(c) m=n-1 (d) m=n-2

H— 6
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Q) 5 books are to be chosen from a lot of 10 books. If m 1s the
number of ways of choice when one specified book 1s always
included and » 1s the number of ways of choice when a
specified book 1s always excluded, then which one of the
following is correct?

(@) m>n (b) m=n
(c) m=n-1 (d) m=n-2

Ans: (b)
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Q)A student 1s to answer 10 out of 13 questions i1n an
examination such that he must choose at least 4 from the
first five questions. The number of choices a?;ailable tohim

1S ( mlqn.g _
(@) 346  (b) 140 oY 196 (d) 280
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NDA 2 2024 - REVISION - MATHS — CLASS 8

Q)A student 1s to answer 10 out of 13 questions i1n an
examination such that he must choose at least 4 from the
first five questions. The number of choices available tohim
1S

@) 6 (b) 140 © 196  (d) 280

Ans: (c)
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Q)How many 3-digit numbers, each less than 600, can be
formed from {1, 2, 3, 4,7, 9} it repetition of digits 1s allowed?
@ 216 /7)) ) m) 180

© 144 @d) 120
@ @ @
AX6x6 = AYXb

— 197




NDA 2 2024 - REVISION - MATHS — CLASS 8

Q)How many 3-digit numbers, each less than 600, can be
formed from {1, 2, 3, 4,7, 9} it repetition of digits 1s allowed?
(a) 216 (b) 180
(c) 144 (d) 120

Ans: (c)
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EEEEE

Q)How many different words can be formed by taking four
letters out of the letters of the word 'AGAIN' 1f each word
has to start with 4 ?

(@) 6 (b) 12
oy 24 (d) None of the above
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NDA 2 2024 - REVISION - MATHS — CLASS 8

Q)How many different words can be formed by taking four
letters out of the letters of the word 'AGAIN' 1f each word
has to start with 4 ?

(@) 6 (b) 12
(c) 24 (d) None of the above

Ans: (c)
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EEEEE

Q) The number of ways of distributing 8 1dentical balls in 3
distinct boxes so that none of the boxes 1s empty 1s

——

@ °Cc; (b 21 ¢ 38 (d) 5
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Q) The number of ways of distributing 8 1dentical balls in 3
distinct boxes so that none of the boxes 1s empty 1s

@ °C; () 21 (© 38 (d) >

Ans: (b)
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Q) What 1s the number of ways of arranging the letters of the
word ‘BANANA’ so that no two N’s appear together?

(a) 40 (b) 60
(c) 30 (d) 100



NDA 2 2024 - REVISION - MATHS — CLASS 8

Q) What 1s the number of ways of arranging the letters of the
word ‘BANANA’ so that no two N’s appear together?

(a) 40 (b) 60
(c) 30 (d) 100

Ans: (a)
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Q)What is C(47, 4) + C(51, 3) + C(50,3)

+ C(49,3) + C(48,3) + C(47,3) equal
to?



NDA 2 2024 - REVISION - MATHS — CLASS 8

Q)What is C(47, 4) + C(51, 3) + C(50,3)

+ C(49,3) + C(48,3) + C(47,3) equal
to?

Ans: (c)
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Q)A team of 8 players 1s to be chosen from a group of 12
players. Out of the eight players one 1s to be elected as
captain and another vice-captain. In how many ways can
this be done?

(@) 27720 (b) 13860
(c) 6930 (d) 495



NDA 2 2024 - REVISION - MATHS — CLASS 8

Q)A team of 8 players 1s to be chosen from a group of 12
players. Out of the eight players one 1s to be elected as

captain and another vice-captain. In how many ways can
this be done?

(@) 27720 (b) 13860
(c) 6930 (d) 495

Ans: (a)
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QIf C(20,n+2)=C(20,n —2), then
what is n equal to

(@) 8 (b) 10
(c) 12 (d) 16
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QIf C(20,n+2)=C(20,n —2), then
what is n equal to

(@) 8 (b) 10
(c) 12 (d) 16

Ans: (b)
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Q)How many words can be formed from the letters of
the word ‘ARTICLE’, if vowels always comes at the
odd places?

(a) 60 (b) 576

() — (d) 120



NDA 2 2024 - REVISION - MATHS — CLASS 8

Q)How many words can be formed from the letters of
the word ‘ARTICLE’, if vowels always comes at the

odd places?
(a) 60 (b) 576
() — (d) 120

Ans: (b)



NDA 2 2024 - REVISION - MATHS — CLASS 8

Q) From 6 programmers and 4 typists,
an office wants to recruit 5 people.
What is the number of ways this can
be done so as to recruit atleast one
typist?

(a) 209 (b) 210
(c) 246 (d) 242



NDA 2 2024 - REVISION - MATHS — CLASS 8

Q) From 6 programmers and 4 typists,
an office wants to recruit 5 people.
What is the number of ways this can
be done so as to recruit atleast one

typist?
(a) 209 (b) 210
(c) 246 (d) 242

Ans: (c)
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Q)Thenumber of ways in which 6 men and 5 women can dine
at around table 1fno twowomen are to sit together 1s given

by
@ 7!x5! (b) 6!x5! () 30! (d) 5!x4!



NDA 2 2024 - REVISION - MATHS — CLASS 8

Q)Thenumber of ways in which 6 men and 5 women can dine
at around table 1fno twowomen are to sit together 1s given

by
@ 7!x5! (b) 6!x5! () 30! (d) 5!x4!

Ans: (b)
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Q)A five digit number divisible by 3 is to be formed
using the digits, 0, 1, 2, 3, 4 and 5 without repetition.
What 1s the total number of ways in which this can be
done?

(a) 216 (b) 240 (c) 600 (d) 3125



NDA 2 2024 - REVISION - MATHS — CLASS 8

Q)A five digit number divisible by 3 is to be formed
using the digits, 0, 1, 2, 3, 4 and 5 without repetition.
What 1s the total number of ways in which this can be
done?

(a) 216 (b) 240 (c) 600 (d) 3125

Ans: (a)
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Q) How many 4-letter words (with or
without meaning) containing two
vowels can be constructed using
only the letters (without repetition)

of the word 'LUCKNOW’?
(a) 240 (b) 200
(c) 150 (d) 120



NDA 2 2024 - REVISION - MATHS — CLASS 8

Q) How many 4-letter words (with or
without meaning) containing two
vowels can be constructed using
only the letters (without repetition)

of the word 'LUCKNOW’?
(a) 240 (b) 200
(c) 150 (d) 120

Ans: (a)
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Q)In a football championship, a total of 153 matches
was played. Every two teams played one match with
each other. What 1s the total number of teams which
took part in the championship?

(a) 17 (b) 18
(c) 19 (d) 21



NDA 2 2024 - REVISION - MATHS — CLASS 8

Q)In a football championship, a total of 153 matches
was played. Every two teams played one match with
each other. What 1s the total number of teams which
took part in the championship?

(a) 17 (b) 18
(c) 19 (d) 21

Ans: (b)
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SEQUENCES AND SERIES
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EEEEE

Q) Sum of the first » terms of the series =y — ,{3( i "(é )_')
;+i+;+;2+ .............. is equal to /“é-

@ 2"-n-1 b) 1-27" :7"/'“?:?
& n+ 27" -1 (@ 2"+1.
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Q) Sum of the first » terms of the series

1 3 7 15 :
X i R 1s equal to
2 4 8 16
@ 2" -n-1 b) 1-27"
) n+27" -1 d) 2"+1.

Ans: (c)
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EEEEE

Q)lf/n(a+c), In(a—c),In(a—-2b+c)aremA.P.,,then
(@) a,b,careinA.P. (b) a3, b%, c*areinA.P.
(c) a,b,careinGP. (d) a,b,caremn HP.
( dae . | J
afe

0
> a,b,¢ dve [0 HP.

(M)Z: (Mc)(a—zéfc) -
s - o?aw/l fo= 2ab pac 4 a— gbe 4t

T AR —dab + {4( — 3 6¢
o?ac = ab+ 4o

0+, a-¢, a-2bte are m GF
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Q)lfin(a+c),In(a—c),In(a—2b+c)aremA.P.,then
(@) a,b,careinA.P. (b) a3, b%, c*areinA.P.
(c) a,b,carein GP. (d) a, b, caremn H.P.

Ans: (d)
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Q) Consider an infinite geometric series with first term a and
common ratio . If its sum 1s 4 and the second term 1s 3/4,

then
@ a=2r=> ) a=2r=3 kmr’ 3
(©) a=%,f‘=% Jd{a—B,r—% /7/
("I—#Y}(r} -3
[y 7
[-r
6( > 4 R = 4"' 1 9%

EXAMS
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EXAMS

Q) Consider an infinite geometric series with first term a and
common ratio . If its sum 1s 4 and the second term 1s 3/4,

then
4 3 3
(a) a=;,r=; (b) a=2,r=§
3 1 1
(¢) a—z,f—z (d) a—3,1—4

Ans: (d)
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/

Q)Ifthe sum of the first 2» terms ofthe A.P. 2,5, 8, ..., 1s equal
tothe sum of the first » terms ofthe A.P. 57, 59, 61 ., then
n equals

@) 10 ®) 12 \}W 11 ) 13
/;71(4;;0?+(4@-/ ) 2 (MIBL +(m~f))

5{('5’% én—g) = Y+ dn -9

[3n+ 3 = dn +112

EEEEE
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Q)Ifthe sum of the first 2» terms ofthe A.P. 2, 5, 8, ..., 1s equal
tothe sum ofthe first » terms ofthe A.P. 57,59, 61, ..., then
n equals

@ 10 G 2 (@ 1 @) 13

Ans: (c)
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Q)Ifa, b, care in geometric progression and a, 2b, 3care in
arithmetic progression, then what 1s the comman ratior
such that 0 <r <1 ?

1 1
@ 3 ® > A4b) = atsc
1 1 2
© @ 5 Hle)=0t 3(“’")
a — a by = |+ 8r*
b — ar 3 — Ay £+ =0

C——GT;L ')”‘l
3

et
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Q)Ifa, b, care in geometric progression and a, 2b, 3care in
arithmetic progression, then what 1s the common ratior
such that 0 <r <1 ?

1 1
(@) 3 (b) 5
1 1
© 7 () Py

Ans: (a)
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Q) For an AP with first term u and common difference v, the

p® term is 15 uvmore than the q term. Which one of the
following 1s correct ?

@ p=q+15v 0¥ p=q+15u
(c) p=q+ldv (d p=q+14u

M(/D,/)V,_: ISy + a+[Z‘~I)V
pv/: [Suv +9v-4
/>; Su #Z
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Q) For an AP with first term u and common difference v, the
p® term is 15 uvmore than the q term. Which one of the
following 1s correct ?

@ p=q+15v (b) p=q+15u
(© p=qtldv (d) p=q+14u

Ans: (b)
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EEEEE

Q)What 1s the sum of the first 50 terms of the series

(1x3)+(BX5)+(5XxT)+....? | 70000
@ 1,71,650 b) 26600 a0
©) 26650 (d) 26900 A
[HFD)
Copeln) Torm _
@w-/)(o?n—fl)f 7% 137670
bn* put 0= 50
HxsoX 6% 10)  — B
/A
5}7) o é(l/” "’) ‘ 6

- 45 ) = g (rt) Grn) foo XI# x10] — 50

— =

— b
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Q)What 1s the sum of the first 50 terms of the series
(Ix3)+@Bx5+BExT)+....7
(@) 1,71,650 (b) 26,600
(c) 26,650 (d) 26900

Ans: (a)
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yan TN
Q) After payinut of 40 1nstallments of a debt of Rs. 3600, 0 +9 ¢ 0/ — I$p
one third of the debt 1s unpaid. Ifthe mstallments are forming B
an arithmefic series, thien what is the first instalment? fa + 494 = [4p
(@) Rs50 ‘/ij Rs 51 B —
(¢) Rs105 (d Rs1l0 /Dc/ -
%’L(o?avL(‘/a-/)O() - g0 =7 107 O&HWC{ d =>4

Q=g
fi§ o]f %00 /9 /oafq/ - _39_(2&%(39 —-/)c{) -
3

3

00 feo = dn+ 414
I — \
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Q) Afier paying 30 out of 40 installments of a debt of Rs. 3600,
one third ot the debt 1s unpaid. Ifthe mstallments are forming
an arithmetic series, then what is the first instalment?

(@ Rs50 (b) Rs3l
(¢) Rs105 (d) Rs110

Ans: (b)
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Q)If the sum of ‘»’ terms of an arithmetic progression 1s
n? —2n, then what is the »* term?

@ 3n-—n’ (b) 2n-3
(c) 2n+3 (d) 2n-5

5,1 - - 7 5,,_/ n (7)-1)2-" a?(»-—f)

= - dn - (%-—02% %(n—/)
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Q)If the sum of ‘»’ terms of an arithmetic progression 1s
n? —2n, then what is the »* term?
@) 3n—n? (b) 2n-3
(c) 2n+3 (d) 2n-5

Ans: (b)
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Q)Ifthe sum of the first two terms and the sum of the first four
terms of a geometric progression with positive common ratio
are 8 and 80 respectively, then what is the 6th term?

(a) &3 (b) 243
(c) 436 (d) 1458



NDA 2 2024 - REVISION - MATHS — CLASS 8

Q)Ifthe sum of the first two terms and the sum of the first four
terms of a geometric progression with positive common ratio
are 8 and 80 respectively, then what is the 6th term?

(a) &3 (b) 243
(c) 436 (d) 1458

Ans: (c)
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Q)Ifx?, 32, z2 are in AP, theny +z, z+x, x + yare in
y Y T B

(@) AP (b) HP
(c) GP (d) None of these
O?d’l - gt
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Q)Ifx2, 32, z2 arein AP, theny +z, z+x, x + y are in
(@ AP (b) HP
(c) GP (d) None of these

Ans: (a)
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EEEEE

Q) What is the value of

1—24+3—445—.....+101?
(a) 51 (b) 55
(c) 110 (d) 111

(HHH ,,_#/9,/) - 0?[/7‘0?+3+,_;50)

(51) -3 (5“0)(5’/)
A
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Q) What is the value

1—24+3—445—.....+101?
(a) 51 (b) 55
(c) 110 (d) 111

Ans: (a)

of
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REVISION
TOPICS :

e Matrices and Determinants
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